HIWIN.

r Motion Products & Technology

52 RS0 Single Axis Robot

1M Technical Information

www.hiwin.com.tw
www.hiwinmikro.com.tw



Linear Motion Products & Technology

REIRIEEE

Single Axis Robot

m

SIE

KKEY
P. 01

KS05%Y
P.19




HIWIN.
K02TC01-0611

R IRIE
KKE

1.1 it

O BEARZERS

O gl EEE

O EHE

O Bl

O BfES

O EELaEr
NERBEERTRDN - SHBBEIE
REE - DUEE -

BERITEERBERITETE » HRKIFERVEZRITDBNES B - Hi  BEGRRRIKIFIEZ REENF
IERRIDBIES B -

Taiwan Patent No. 183022
China Patent No. 481446

USA Patent No. 6584868
Germany Patent No. 20117489.8




2

HIWIN.
K02TC01-0611

1.2 EmIYEE

KK 60 10

|
KK 3R3
RY -
40, 50, 60, 86, 100

RIRIFAS (BS)E1E:
KK40: 1

KK 50: 2

KK60: 5,10

KK 86 : 10, 20

KK 100 : 20

BESMN

P : ¥8EMR > C . —fXHR

E: RIKIEIERIAINT ——
HECHR - IRIKIRIRIREERY

NERE (mm)

400

KK40 : 100, 150, 200
KK50 : 150, 200, 250, 300

KK60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940
KK100 : 980, 1080, 1180, 1280, 1380

E : PUBHIAIIT

HECIR : PUBRER

A

FO C

S

@AEBEF'%EQ
REMRREE

: Omron SX671

: Omron SX674

: SUNX GL-12F

: SUNX GL-N12F-PX10

: BEER
DEE]E #\I\

C . IRAEE
. HiEFEE
F\asfﬁ ﬁnzm

(_n -'-\(JOI\)—\D

BEBELHE  3EH-I9E
FE : 55K 00LT

E : JBEERSTAINT
HECHR ¢ B REER

BEHE 1,2
BEERS -

A fZHERY
S . BSEAY



HIWIN.
K02TC01-0611 3

1.3 FEXEE

Rz EIRIFIRETE HEREL2 SRE (mm/sec)
=250
(mm) (mm) FEZEHR — %R
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KK50 02
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
05
400 550 390
500 550 390
600 340 340
KKé60
150 1100 790
200 1100 790
300 1100 790
10
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
540 740 520
10
640 740 520
740 740 520
940 610 430
KK86
340 1480 1050
440 1480 1050
540 1480 1050
20
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 510 630

1380 440 530



HIWIN.
4 «o2TC01-0611

1.4 BERRY

KK4001 KK5002 KK6005 KK6010 KK8610 KK8620 KK10020
BBR —MRIR BBR —RIR BBR KR BBR —RIR BBIR —RR BBR R BBR R

o DTBIME (mm) 8 8 12 15 20
§ B2 (mm) 1 2 5 10 10 20 20
IR EAEEEEM (N) 735 676 2136 1813 3744 3377 2410 2107 7144 6429 4645 4175 7046 4782
v EAGFEEEM (N) 1538 1284 3489 2910 6243 5625 3743 3234 12642 11387 7655 6889 12544 9163
=2A BEEA 3920 8007 13230 31458 39200
BESA (N mms - - 7173 - -
BEA TBEE A 6468 12916 21462 50764 63406
HERESIN mms - - 1574 - -
JBEE A1 33 116 152 622 960
e sE  BEA2 182 278 348 3050 4763
Mp (FHAIN)IN-m) s=ps S - - 72 i g
:||«£ JBEE 52 - - 205 - -
i JBEE A1 33 16 152 622 960
e mE R A2 182 278 348 3050 4763
My (IRH#E)IN-m) YBEE S1 - - 72 - -
JBEE 52 - - 205 - -
JBEE A1 81 222 419 1507 2205
e s R A2 162 bbids 838 3014 4410
Mg GEEDN-m) sem o1 - - 241 _ _

TBEE S2 - - 482 i i}



1.5 BEER

BUER

KK40

KK50

KK60

KK86

KK100

MERE

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
640
740
940
980
1080
1180
1280
1380

EMERE
Bk R

+0.003  *0.01
+0.003 %001
+0.003 %001
+0.003  *0.01
£0.003  *0.01
£0.003  *0.01
£0.005  *0.01
+0.005  *0.01
+0.005  *0.01
£0.005  *0.01

ENEE

R

0.020

0.020

0.020

0.025

0.025

0.030
0.040

0.035

0.040

0.040

— %R

TEFTE

BRI

0.010

0.010

0.010

0.015

0.015

0.020
0.030

0.025

0.030

0.030

— %R

HIWIN.
K02TC01-0611

BEfil : mm
RAEEHH I N-cm)
YERBHR — iR

1.2 0.8
4 2

15 7

15 7

15 10
17 10
17 12
17 12
20 12
25 15



6

HIWIN.
K02TC01-0611

1.6 HEHBEERLER

1.6.1 KKFRAZINEEESE

it
O RERTRIEER

O $5E : 20~25um (300mmELA)

O EIREE 20~25um (300mmBELA)

O BAERE 30~120mm/s
O #£77 150~600N
O {FERPHRZEIRIFIE

NN3: 55 B aR iRt

KK 2 - 60 10
KKZRZ!
%
AR ¢ 12MERY
1. BiE

2: HEREE)ES
3: F5iE - BEE)as Al

RY -
40, 50, 60, 86, 100

RIRIRIRHVERE - ———
KK 50 : 02

KK 60 : 05, 10

KK 86 : 10, 20

BESMN

P

P: TR > C: —ARHR

300

NEERE (mm)
KK50 : 150, 200, 250, 300

KK60 : 150, 200, 300, 400, 500, 600
KK86 : 340, 440, 540, 640, 740, 940

A

FBEERLTY, -
A fZHERY
S : ETHA

2

M1

D1

G E

FO C SO

SRR

S0: RAEIRRENE
1:0mron SX671

2 : Omron SX674

3 : Inductive Proximity

E: JBEEFFIAINL
OO ¢ fRHER

POgh e+
IR ¢ AR

D1: S
D2 : G ESE

PEE)ER

M1 . i

BIEBE : 12

fein



1.6.2 FRABERSBEERER

AC IR 5E

Nemal7
Nema23
Nema34

VEXTA

Nemal7
Nema23

Nema34

BN

MSM3AZ(30W)
MSMB5AZ(50W)
MSMO01(100W)

MSMO02(200W)
MSMO04(400W)

MSM08(750W)

HC-PQ033(30W)
HC-PQ053(50W)
HC-PQ13(100W)

HC-KFS053(50W)
HC-KFS13(100W)

HC-KFS23(200W)
HC-KFS43(400W)

HC-MF73(750W)
SGM-A3(30W)
SGM-A5(50W)
SGM-01(100W)

SGM-02(200W)
SGM-04(400W)

SGM-08(750W)

PK24
PK26
PK29
PK54
PK56
PK59

KK 40

F2

F1

F1

E3

F3

F3

KK 50

F2

F1

F1

F1

E3
(F-E2)

F3
(F-E2)

F3)
(F-E1)

F3
(F-E2)

KK 60

F2

F1

F1

F1

F5
F4

F5
Fa

F5

F5
F4

KK 86

F3

F1

F4

F2

F2

FO

F2

FO

Fé

Fé

F5

Fé

HIWIN.
K02TC01-0611

KK 100

F2

FO

F1

FO

F1

F4

F4

F3

F4

7



HIWIN.
8  Ko2TCo1-0611

1.6.3 BEEIZ LR
KK40

Motor Adaptor Flange FO Motor Adaptor Flange F2
£‘$ PCD29  4-M3x0.5Px6DP = :ii.s 4-M3x0.5Px8.5DP PCD45
e - ! B =
AR [ R H B
EJ ] SF s i NL{ - o[ | e W
Y A 2 R 2R

Motor Adaptor Flange F1 Motor Adaptor Flange F3

49 85 4-M4x0.7Px8.5DP ,PCD46 49 7 3

= T
s T

i

)

=,

31

D6x3.5DP
P
N
g 4-M3x0.5PxThru
S D)
N
Q j

[ I
‘ [ 220 ] ‘ Jes
040 i

| 30°3%

LBy

@

\
Do a

A

XX

KK50

Motor Adaptor Flange FO Motor Adaptor Flange F2
60
14 16.534 PCD33 4-M3x0.5Px6DP 60 85 PCDA5  4-M3x.5PXSDP
KLEN 3
B gismat B s N pe | S
| ENC N SNV : T80 [
- = ° T o W% 9 - S Bl 4 @
Motor Adaptor Flange F1 Motor Adaptor Flange F3
60 8.5 PCD46 4-M4x.7Px8DP 60 7 49 4-D3.4Thru,
‘ 3 | 31 | 2 6x3.5DP
N b o ‘ \7’ ¥ I o @
_ g | &g ) _ Q[ } 8] ol 4-M3x.5Px7Thru
il iZ] i % O \ Z iH } g < | o ? ?
] - 4] % Y I s i
— ¥ L N N4
Motor Adaptor Flange FO Motor Adaptor Flange F3
59
185 1520-5 PCD40  4-M4x.7Px8DP 2 ‘1957* M e
9
— ] ? e :ﬂﬁa g% 8
SR O
Motor Adaptor Flange F1 Motor Adaptor Flange F4
59 10 59 10 4-M4x0.7Px10DP
3 3l 47.14 /
\ |
—= -1 gz —1 E=n RMIBLE ()
- SEE
Motor Adaptor Flange F2 Motor Adaptor Flange F5
4-B3.4Thru,
59 10 PCD45 4-M3x.5Px10DP D6x4DP
L] 35 59 8
] B
— ] = 9 —]

4-M3x0.5PThru



HIWIN.
K02TC01-0611 9

KK86

Motor Adaptor Flange FO
87
23 50
28 -
5] % 4-M4x0.7Px8DP 85
v’ s =7

¥
L
4%
c

i

\
T

46
@501

078 T
R\

35
Motor Adaptor Flange F1 Motor Adaptor Flange F4
87 10 87 12
23
2 2850 85 .As‘o -~ 8
v T v N . B
————— S - —= o T I | A - I 2
ﬂwﬂﬁ44 5;{5 Lﬁ— AHL S|g| 8 , /;
— [ s -1 | t————+ i l &
4-M4x0.7Px8DP ” 3.5 L F:Eraggo.s;’xmw
Motor Adaptor Flange F Motor Adaptor Flange F5
87 8 87 8
23 ‘2—{821) o5 23 2850 i’%
- \ i ——
iy i ) X iy ~H é %
- = glge -t [l see g | q 2
e ==niE ek
—————— I T s N e |
PCD46 4-M4x0.8PX8DP  «|
Motor Adaptor Flange F3 Motor Adaptor Flange Fé
87 8 87 8
23 50 23 50
28 85 28
EEL 8’
iy ,‘ % I R
ﬁ || }fg,,og @ w ‘% \ o %T - i} 2% o ©
i gif’ﬁ*”ﬁ% 8 0 @é T © 1 TEE—1 T 8|30 ©
| o il @ Na é?/ o | 1 ] IR~ L
PCD45 - g
4-M3x0.5Px8DP
Motor Adaptor Flange FO
94
27 45 4-M5x0.8Px10DP 99
32 75
22 ]
T L |E
r 1 E %
B
Motor Adaptor Flange F1 Motor Adaptor Flange F3
94 12 94 12
‘ 35 ‘ 25
T 1 M
) 1 | -
= Bl 1 Es = = -2
— | sls|” | KSR
,,,,, I | RS
Motor Adaptor Flange F2 nge F4
9 12 4-M5x0.8Px12DP PCD90
o0 25
T _ ; I
— " "
=10 | il exls AR
} 8 g a Q E a
,,,,, _ i ‘783




10

HIWIN.
K02TC01-0611

1.7 HH4ERC
1.7.1 (HEEE

[ s 5 I
AR L/ — s ‘
; i S ARy -
L WL o el q I f L
8 L 1 O unl
O 1 VO A A O B O S o o - & LT
Bl : mm
R NERE RAITE RI)\EBiEE RABRE a b c d
150 56 16 80
200 106 20 126
300 166 40 206
KK60 84 455 24 54
400 234 56 290
500 306 70 376
600 366 90 456
340 188 36 224
440 260 50 310
540 336 62 398
KK86 110 61 32 75
640 408 76 484
740 480 90 570
940 640 110 750
1.7.2 1% PR . ’
° 42
SER | \
TR el
5.8
RY a b c d e f
KK50 455 59 1 10 15 11
KK60 51 63.8 4 14.5 8 13
KK86 63.5 76.7 8 18 8 18
KK100 71 84 10 20 9 20
PR 1 : Omron EE-SX671
R¥ a b c d e f
KK50 413 48 1 10.5 10.2 n
KK60 462 52.8 4 14 3.2 13
KK86 59 65.7 8 18 3 18
KK100 66 73 10 20 4.2 20
f®PR2 : Omron EE-SX674
RY g h i i
KK50 39.5 5.7 7 19.5
KK60 445 9 2 9
KK86 57 13 1 13
KK100 64.5 15 2.5 15
HPR3, 4 : SUNX GL-12F, GL-N12F-PX10




HIWIN.
K02TC01-0611

RITEE  RIKRERBER=EEERETH - BESMAVGTEATNANT:

foCc P L ERESM (REkm) C : BEXEBEEEREN)
L= (7 P ) x 50 km /i - EBRN (BERE) P, : T{EETF(N)
v o BEEN (BERE2)

+*181
TBEERIT EIERE /
Al, 1 1.0
A2,S2 0.81
+*1&2
TIFIRIE Jp—
~ﬁI/\ ;‘
SERR EEV /
HERNBE {EK3EV < 15m/min 1.0~15
ZEaE FAIR15 < V< 60m/min 15~2.0
ZEBIRIRE) SRV > 60m/min 2.0~3.5
1.8.2 RIRUZIT R EE
1 C 3 L : EEEE6m (feiEs) C, : EXFEBEEEME(N)
L= (f_ : P“ ) x 10°tev /- PR — P, : BET{FERIN)
1.9 ;Fz'iiﬁ'
{EREE M » BET100REHFEEMIE—X -
TEEEE
[ |
0 lLel+le |
8 [el«]e | P
N [
Grease nipple
/EEE%YZ Grease nipple
[ | | \
_C ¢ o]0 j:
Eh elefe] | [o]-]6 ‘3

Grease nipple

11



12

HIWIN.
K02TC01-0611

1.10 BEHFMHEEAR T ERA

1.10.1 FSE=

KK40

58 4-M3x0.5Px4.5DP
25 33 2xn-@3.4Thru, 6.5x3DP
2x2-M2.6x0.45Px4DP 20
10x1.2DP 5
26 /L / . u
18 ! ¥
= Lo~ g Hpeele ] igedle 7 .
2 7 — iy =y Sl I A
e i ¢ @ b @ 0 & —
18 | 11 ‘ i in
40 T 2.M2.6x0.45x4.5DP 6
A-A L2
L1
PCD29 4-M3x0.5Px6DP 12 -
N S0 A X
) N =) =
LS DTS SN in st ¥
ofio] D /D e ~ N i ———— = E| View B
\—lo @é\\’ /ﬁﬁ@\g/ N g‘ ° 7//’ 3 &E: § iew
o fi A e U E— —
View B ? " \_A. 50 G
(n-1)x60
MERE L2 BAITIE (mm) = (kg)
ZR L1 (mm) N G (mm) n (mm) N 3
(mm) A1 BEE A2 iBRE A1 BEE A2 BEE
100 159 36 - 20 2 0.48 -
150 209 86 34 15 3 0.6 0.67
200 259 136 84 40 3 0.72 0.79
KK50 )
2xn-@4.5Thru, ‘ .47
& 8x4DP ‘ 30
’<—>
2x2-M2.6x0.45Px4DP 15x1.3DP 4-M4x0.7Px6.5DP
— o @ & m—f@ (o] o [ HD gle
w[ o o | S| 3
N, Lt T < “ SEI * ﬁﬁ‘ @,’{/ — I % Ti j@EL_ 4
@L,& ‘ 2-M3x0.5Px4DP 5.7
50 | K G
A-A L2
L1
60
PCD33 4-M3x0.5Px6DP 14 34
10 He2
u %. , A , z
o /\ o Moo %—I:A:H%ET 8 g View B
@ o I , ) H < ,,777 - e | Q
k2 A 1 0 o7 R o7 AR
! ; L
A
View B 80 G
(n-1)x80
MERE =RLU BRAITIE (mm) 6 (mm] K (mm . £ (kg)
L2(mm)  (mm) A1BEE A2 BRE A1BEE  A2BEE
150 220 70 - 8 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8



82

HIWIN.
K02TC01-0611

SEE 7
o & 51 4-M5%0.8Px8DP
KK60 (E$=1 2xm-M2.6x.45Px4DP 30 2xn-25.5Thry
6. 16x1.50P ©9.5x4.7DP
42 ¥ 1 [ T
30 b L b
| @ 1/ @ HiFe [« | ¢ @ -
o | 2 L B g .
3 IQ\ (N e 77:777}Eff"’* *fff:ﬂ 3
00 K @ /| @Y9%el+Te]| PO B
30 |15 [y L——T 4
60 ‘ " 2-M2.6x.45PX3DP' ‘ 6
K G
A-A L2
L1
PCD40 4-M4x.7TPx8DP 59
185 _ 305
_ /\% 11 15'3 ‘
\Eg el A 5
gm_ > & ¢5 7——7————// — T F———— ,‘7 ] &g View B
GINES=CA . 3 . )
’ 4-M3x.5Px8DP L /1 7 ‘ R
View B LA'
100 G
(n-1)x100
MEREL2 2RL1 RXI{TE (mm) =2 (ko)
. . G(mm) K(mm) n m N .
(mm) (mm)  A1BEE A2 iBRE A1 BEE A2 iBRE
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6
W & AU
KK60 (E&ﬁ:ﬁ] 59
[’T 2-M5x0.8Px8DP
2xm-M2.6x.45Px4DP T 147 2xn-@5.5Thru
10x1.50P @ 9.5x4.7DP
42 ] r/’// [ 1 ]
a— com s mgmwar &
e N | i 1. - A D
® Q\\A_{ aqmm **:***}Efff:[;] 77%7% ‘ 8
] @ |l & e | P
30 |15 /] [ T
60 - 2-M2.6x 45PX3DP 6
K G
A-A 2
L1
PCD40 4-Mdx.7Px8DP 59
185 _ 305
. % 11 15.95 ‘
Sqhan :
3 s N N
vu)- S & $QQ 7*77**7*,/,/ 777{ T = = ? View B
3 | oo s N/ | . i 8
" Ly maxspreop b ] 'ge lA e I
View B ==
100 G
(n-1)x100
gEREL2 2RL1 &RXTE (mm) =8 (ko)
5 3 G(mm) K(mm) n m 5 3
(mm) (mm)  S1;BEE S2 iBEE S1iBEE S2 iBEE
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 184 50 100 2 2 1.7 1.9
300 370 235 184 50 200 3 2 2.3 2.5
400 470 335 284 50 100 4 4 2.9 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 585 484 50 100 6 6 4.1 4.3

13



HIWIN.
14 kozrcot-o611

KK86

+ 4-M6x1Px12DP
60 15x2DP 2xn-26.6Thru, @11x6DP
46 =
‘ ‘1 @ T 17 T Ie
J e TR sl i |
N Q:‘\_lT‘_"‘/rr? E{glg 771777177,177,‘#‘%’;7 ’7’:’7"777;7777777,;, B } S
46 |20 D11 & Effé LD D @ |
86 ® 1T °
AA M 2-M2.6x.45Px4DP 7.5
) 2xm-M2.6x0.45Px4DP H
(m-1)x200 87
4-M4x0.7Px8DP 85 |23 50
13 |28 =
= 18 o
o o N 5 A =<
%/ N 5 ° u Ly S
/’ o2 I PSP | R S S w I i | ©|So ViewB
o e g{ J' g ——— o T ———— | | kr 135
wl c 2 :‘g/"’l; . I/ . . 188
= [ R oy i —
PCD60 - ' ' [
A .
PCD70 4-M5x0.8Px10DP (016100 100 70 85
View B L2
L1
HMEREL2 =KL RXITE (mm) ST o =& (kg)
(mm) (mm) Al BEE A2 BEE A1 BEE A2 BEE
340 440 210 100 70 3 2 5.7 6.5
440 540 310 200 20 4 3 6.9 7.7
540 640 410 300 70 5 3 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 7 4 10.4 1.2
940 1040 810 700 70 9 5) 11.6 12.4
142.6
95 4-M8x1.25Px15DP
50
2xm-M2.6x0.45Px4DP\ 20x1.50P 2xn- @ 9Thru, & 14x8.5DP
70 v i v S Te
-~ 50 _ o0
= 9 I @[ eI HY
fact e o= — - —+ =
8 Yool o ! & [emie [P [
—O T /l il
50 Lz_s, 1 4-M3x0.5Px6DP / __|g|__ sl
100 200 H
A-A (m-1)x200
L2
L1
94
9 4-M5x0.8Px10DP = 335
15 % =
N A T \777% o
IS - 7777;/77771ﬂ777F_':JT - g views
Tl 1 e R A A o1 bf-—— 42
—
f ‘-1 K A 150 G
pcb70 View B (n-1)x150
PEREL2 2RL1  RXITE (mm) o b I L =8 (kg)
(mm) (mm) A1 BEE A2 BREE A1BEE A2 BRE
980 1089 828 700 40 90 7 5 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 90 8 6 22.0 23.7
1280 1389 1128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 7 25.3 27.0



HIWIN.
K02TC01-0611

33 2X2-M3X0.5PX4DP
25 260 4-M4x0.7Px14DP
2x2-M2.6x0.45Px4DP . 2xn-@3.4Thru, 26.5x3DP
2 S UL ¢ o
57 = :
‘ 35 ‘ __
! ! ©
o 4 C ‘\J L:H ] - © | %
o 17 L - ‘ JE—
S FIQ
18 | 11
40 L1
A-A 49
10 12 25
PCD29 4-M3x0.5Px6DP ‘—" ‘AA> 1:15—
S /f —& & — ] =
/ Y » —— |
8 g f?‘ \{ - & PN E——— ﬂ”///* — Hcﬂ_i jﬁ — 7HE i ° '3;: View B
o [P 1] - = I 8
8 e el H if T i | SRR L
i * 1 | E—
) A 60 G
ViewB (n-1)x60
BEREL2 =2RLI RA1TIE (mm) 6 (mml . £ (kg
(mm]) (mm) A1 BEE A2 JBEE A1 BEE A2 JBEE
100 159 36 - 20 2 0.55 -
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 8 0.82 0.89
2x2-M2.6x0.45Px4DP 2xn-@4.5Thru,
o 28x4DP Z‘; 4-M4x0.7Px10DP
55
47
e
T ‘ ‘ M| —
25 125 2x2-M3;0.5Px4DP __|8]195 ] A 57
50 e
A-A L1
60
4-M3x0.5Px6DP 14 34
PCD33 A 765
A 16l
B 5. - ‘ 0 =
9 3 /\@ ° /! d_l,;,ff,,,,zl_l n-¢ 1= o Views
0 o I / “ Nl T ¢ - - ’7’7 - I | i g
k2 & [ . . o o
R
‘ A
View B | 80 G,
(n-1)x80
HBEREL2 =RL BRA1TTZE (mm) Gtmml K(mml n EE (kg
(mm) (mm) A1 BEE A2 BEE A1 BEE A2 BEE
150 220 70 - 8BS 80 2 1.1 -
200 270 120 55 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 189 30 240 4 1.8 2.0

15



16

HIWIN.
K02TC01-0611

KK60 (124 E5Y)

86 :j 4-M5x0.8Px8DP
74 30 | .
g; ‘ 2xm-M2.6x.45Px4DP ) % 2 7op
| A S S = =ttt TR S A
| “ ®_ ,Zi@, TL@QJL ‘y [+ K 71 SEIN NN
2o 8 T AN e ot —— Te=——LE_— 2
*qw*ﬂy NN }%4 @‘: ————— /v/':——% Liiﬁ,ﬁriﬂr‘ E——— r“@ [}
I n vl o o - - Kl R T e
S " 7115 ,fifffqllfffi,::::::‘ " fiL
D ++ @ _|8_
- 2x2-M2.6x0.45Px4DP
A-A K G
L2
L1
PCD4Q 4-M4x.7Px8DP 59
185 _ 30
A 15.5
= \@;\ . o 9l
2] Hf =
S{IN \97 e e —— r;, ) Qg View B
NN S RV . i N i S
’ (4-M3x.5Px8DP W Ll I
View B iy
100 G
(n-1)x100
HEREL2 2RL1 RAX{TE (mm) e K o =2 (kg)
(mm) (mm)  A1BEE A2 BEE A1 BEE A2 BEE
150 220 60 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5) 3 3.9 4.2
600 670 510 435 50 100 6 6 4.6 5.0
« |
KK60 (5255
59
. 28
74 2xm-M2.6x.45Px4DP 14 Z'MSXO'SPXSDPQS sth
64 preg 56 5x4.7OP
62 /L
| I e/ Sy e P iy i R S
il u o E AR CE T ]
i L= T __ 4 - \ ©
i mgrijm o T & A B Lmd aa T e ?
G v M W b= it et *
= h . i} ‘L 777777 —_—_ -6
30 |15 A e[
60 2x2-M2.6x0.45Px4DP~ _|8]_| 10 .
A-A L2
L1
PCD40 4-M4x.7Px8DP 59
185 _ 305
A 155
= \ﬂ o, - — o ol
@) f =
3, Jo é@ | |t [N e
°] A N N o N i 8
" L4 max.spxe0P R b
A
View B
100 G
(n-1)x100
gEREL2 £RL1 ®RXATE (mm) 6(mml K (mm] E& (kg)
. . mm mm) n m N .
(mm]) (mm)  S138E S2 B S1 B S2 i3
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 184 50 100 2 2 1.9 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 ) 3 3.7 3.9
600 670 535 484 50 100 [} 6 4.4 4.6



KK86

HIWIN.
K02TC01-0611

4-M6x1Px12DP
2xn-@6.6Thru, &11x6DP

85

87
50
13 28 ~
| : el
Q
A L — /an— D E— Pii R
© ———————— 1| — } S| View B
> // * ) N il | N g
= / -~ [ [ b} L} L———
PCD60 f =
PCD70 4-M5x0.8Px10DP A 100 |0 35
(n-1)x100 \
View B L2
K]
PEREL2 =RL1  HX{TE (mm) Himml n 0 £ (ko)
(mm) (mm) A1 BEE A2 iBEE A1 BRE A2 BRE
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 5 3 9.0 9.8
640 740 510 400 20 6 4 10.3 11.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 9 5 13.0 13.8
KK100 1426
95 4-M8x1.25Px15DP
124 4-M3x0.5Px6DP 4 ﬁ’
10 2xn-@9Thru, 314x8.5DP
9 ‘
i il
I I
s = rols
N
50 |25
100 200 H
A-A (m-1)x200
L2
K]
94
99 4-M5%0.8Px10DP 27_._ 45
A 32
— 22| N
e R | g i 8
,, Ho— e -l
N et =] | B £l views
o N H . I §
711 e ] E—— i/ o b —
—
‘-‘ ‘ \ A 150 G
(n-1)x150
HEREL2 R LI BRAITIE (mm) 6(mml Himml n o B2 (kg)
(mm) (mm) A1BEE A2 BRE A1 BEE A2 BRE
980 1089 828 700 40 90 7 5 20.4 221
1080 1189 928 800 15 40 8 6 22.2 23.9
1180 1289 1028 900 65 90 8 6 24.0 25.7
1280 1389 1128 1000 40 40 9 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 27.5 29.2

17



HIWIN.
18  kozrcot-os11



HIWIN.
Ko2TC01-0611 19

RERIERE
KS052

2.1 5%

O #EH8EsIS

O BiRaE

O RiEiE=

O SERBEE £0.01mm

O #ErsEs

O PHEEE#RIE

O EBEEEEHES) (EIBEE)

2.2 EFEE

O FPDE%

O Yigpe

O BEaEslvESE

O FPDEMRMEEIETiL
OF -3 ety




HIWIN.
K02TC01-0611

20

2. 3 BisRiRinEREA

KS05 -04 -0200 -C -M1 D B -S1 -5 -F1
SERRTS
itk A FR==5Z
EfE[mm] : 4 F1: BN TEE
e BELRR
BRUTE Imm] 5: 5m(IZ%) A: 10m
100-400 (100mm Pitch) TH. |IERF
YEEEMRC: 1T 1RBREH RS
S1: Omron SX-674A
BiERIR B EiHIREFRE
MO : &
o B: S¥E
M1 : =&50W
P1: M T50W ZH:

2.4 KSO05 (EE/BEE) RY

D: SR&E)A3
R EiEE)Es

4-M4X0.7PX8DP 532 90
55T .
la o] o B 551 o 85— | @ g
o ) o
8 w
o J )
[© [0 ¢ o] O o B3 9]
2-@4H7 27
Effective Stroke 108.5
L
97 52
55 41 4-M4X0.7PX8DP
2 29 PCD@46
= ]
=] B
e
)
6\ g
50
(Nx100)+40 82 54
2-@4H7X5DP
e o]
©® 4%%k —o— R —‘)*4(4 ® ®
©0 - - o © ©
° \ o]
\ 2x(N+1)-M4X0.7PX7DP
Nx100 102
by /= T @E _ .
BRI N BE (kg ACABSENE (W) 50
(mm) (mm)
100 285 1 1.4 SIRBEE (mm) Z#RC: +£0.02
200 385 2 1.7 BEE (mm) 4
300 485 3 2 BRUTE (mm) 100~400 (100 Pitch)
400 585 4 2.3 FERHR(m) 5(1E%E)~10



2.5 BUSRiRISERAA

HIWIN.
K02TC01-0611

21

KS05 =04 -0200 -C -2 -M1 D B -S1 -5 -F1
ELGaW
— Ak
Bizlmml : 4 TH. ERECEEE
R F1: BN T BIE
BRI [mm]
100-250 (50mm Pitch) EEIEEE
\IEE FEE AT Y 5: 5m[1‘;§—‘;/_$'€_] A: 10m
FBEFRC: 12 TH.: |IERR
BEHE 1RERFEEE
2. EEEREE S1: Omron SX-674A
EH: E—BRE T HERFRE
. B: S2%E
MO . e
M1 : =Z50W sgEEEEn e
P1.HRS0W e
D: BHEENSS
TN EIRENRS
S
2.6 KSO05 (B85 RY
37 90
4-M4X0.7PX8DP 55
551 )
lo| =008 b oo Cold C5lo 37| ol g
o o o
o o “ J‘) (<]
(0] S#omm b T | % mm []
2-@4AH7 27
EffectiveStroke EffectiveStroke 108.5
L
97 52
55 41 ;—gls%(ggPXSDP
[ ] !_ —
(Nx100)+40 82
2-@4H7X5DP
e o]
@0 o @ © 9 B @ ©
° \ o]
2x(N+1)-M4X0.7PX7DP
Nx100 102
BRTE =R N BE(kg) ACHRSZNE (W) 50
(mm) (mm)
100 511 3 2.3 SIRBEE (mm) ZH#RC: +0.02
150 611 4 2.5 B2 (mm) 4
200 711 5 2.8 BITHE (mm) 100~250 (50 Pitch)
250 811 6 3 FERAR(m) 5(1Z%E)~10



HIWIN.
22 Koz2TC01-0611



HIWIN.
K02TC01-0611 273

RERIERE
KSHY

3.1 5%

O BRaE

O HEEZEERClass 10~100
O ANiEHHES

O WEACEHRSEGELL)
O SERBE +£0.01mm

O PEEESHRE

O BERkiTIE

3.2 EFEE

O FPDEZ

O ¥882

O BEEaES
O FPDEIRIKE
O RIS RIRIE




HIWIN.
K02TC01-0611

24

3.3 BiRiRiSERAA

KS10 -10 -0400 -C -M2 D
iy
BFZ[mm] : 10,20
BRITE [mm]
200-800 (100mm Pitch)
BEER
P SfEE - C. 1E#
BiERRN
MO :
M2 : =& 100W

3.4 KS10RY

P2:#AT100W

B -S1 -5

BELERR
5: 5m(Z#E) A: 10m
TTH: BERR

18 PR 7
S1: Omron SX-674A

ZER: AT PR B

B: E8XE&
ZBH. HHERE

D: EfEE)=S

A HEEEE)RS

198
. 83 Approx.250 100
28 Air coupler (Motor cable length) 70
o o o] 1 T T T
©
o
‘9 [Ye]
© ®
<« 9] ] = =
4-M6X1PX12DP 2-@6H7X8DP
268 Effective Stroke
Brake
15 4. 15 Lo ol !
LO‘ © I]
™ v

[ 50 |

. . (With Brake)
A Section detailed chart

2x(N+1)-M5X0.8PX10DP

= / ) ) ¥ + + 5
R
¥ g + = .
s/l
60 Nx150
110
(With Brake)
AT =R BE (kg ACHIREZENE (W) 100
(mm) (mm)
200 600 3 9.1 ) SRC. +0.01
300 700 4 9.8 =t e ) Z4HP. +0.005(2575M)
400 800 4 105 BEESR Class 100(HRET)
500 700 0 2 B (mml 203510
600 1000 6 11.9 — _
700 1100 . 126 BRITIE (mm) 200~800 (100 Pitch]
800 1200 7 123 ERAR(m) 5(f2%#)~10



HIWIN.
K02TC01-0611 25

3.5 BUERiRISERAA

KS14 -20 -0600 -C -M3 D B -S1 -5

AU FELRR
_— 5: 5m(1Z#E) A: 10m
HiZlmm] : 10, 20 ZF: FHERIR
BT [mm FARRBARA
200-1100 (100mm Pitch) S‘l:EOnﬂgon SX-674A
226 FEATIRRIR
BESH -
P BIBE » C: 1B E;EE;%% =
SEET HiERER
MO - 58 D: ZEEENZ

M3 : =Z200W Zopy. HERESS
P3: 200w

3.6 KS14RY

198
96 Approx.250 100
(Motor cable length) 70
e o o] [# & <] ]
B
3 3
7 ®
r# « <] | [+ % 4] ©
4-M6X1PX12DP 2-@6H7X8DP
363 Effective Stroke
Brake L
1 ° o [ o o 1
50
(With Brake)
2x(N+1)-M6X1PX12DP
® [ * 4 ° 4 ‘e H +°
A Section detailed chart o
=
+ + + + .
(] @ ] (] ()
s
75 Nx200
125
(With Brake)
by /=T %E _ N
RARUTHE N BE (kg ACEIRESENE (W) 200
(mm) (mm)
== 1 . —_ .
300 800 3 14.7 ERIBE (mm) S4RP. +0.005(8575/)
400 900 4 15.9 - o
500 1000 4 171 HEEZR Class 100(¥5RAREE )
600 1100 5) 18.3 e
700 1200 5 195 EFE (mm) 205510
800 1300 é 207 BRI (mm) 200~1100 (100 Pitch]
900 1400 6 219 It imm e
1000 1500 7 23.2 .
FERHR(m) 5(#2#E) 10
1100 1600 7 24.4



HIWIN.

2 6 K02TC01-0611
! =
3.7 EUSRimISEREA
KS18 -20 -0600 -C -M4 D B -S1 -5
Gillhay TREIERHR
N 5: 5m(fZ%] A: 10m
E#Z[mm] : 10,20 TR BIERE
ERUTAE lmm] EFREAR
200-1200 (100mm Pitch) S1: Omron SX-674A
ZPH: HBPRFERE
BESR B: 2¥E
P. SH8E » C. 1B BN e
. D: SiEENES
%ﬁﬂﬁ 70 . =l
MO . i ZPH: HEIRENES
M4 : =ZF400W
3.8 KS18RT.,|' P4 : FAT400W
220
128
114 Approx.250 100
88 (Motor cable length) 70
I! 54 o (et e o] .J
T ® °
8 o | I2 >
o) - ]
© /[
g [p7 & 9 o7+ 3ol ] 9
B 212 Air coupler /| ™ 4-M8X1.25PX16DP 2-@6H7X8DP
22 4-M6X1PX12DP
350 Effective Stroke
15 .4 15 Brake| L
1 3 T ] |
s I "
—— D ° ° e / ° ®
g
25 \7 1.5 %
o ) (With Brake) 2x(N+1)-M8X1.25PX16DP
B Section detailed chart
¥ ¢ & &
(N
4 4 ka
Sk 75 Nx200
125
(With Brake)
WUTIE = - .
AT =N BE ko) ACHRBEVE (W) 400
(mm) (mm)
200 710 3 16.5 - SE4BC. +0.01
300 810 3 18.1 EFURE (mm) Z4RP: +0.005(8575 /)
400 910 4 19.7
500 1010 4 21.3 BEEER Class 100(fHIRAREET)
600 1110 5 22.9
700 1210 5 24.4 B3 (mm) 208%10
800 1310 6 26
900 1410 6 27.6 BEMITRE (mm) 200~1200 (100 Pitch)
1000 1510 7 29.2
1100 1610 7 30.8 .
IE i 5 =7 ~10
1200 1710 8 323 Has ol et



HIWIN.
Ko2TC01-0611 27

RERIERE
KAZ

41 R

O ZREUHERS

O KER

O =i

O SERBEE £0.01mm
O WEACEHRSEGELL)
O ERYkITIE

4.2 EFREE

O SHEBEE

O FPDE%

O BEEhzRHE
O BEabiRE A
O E&htifs




28

HIWIN.
K02TC01-0611

4.3 BERimISREE

KA10

B

BE[mm] : 10,20

L4 KAMORY

75
16 A
R YA

135 q,q/gb

!

A Section detailed chart

BMITIE
(mm])

200

300

400

500

600

700

800

100
39
m
7]
100

-10 -0400 -C -M2 D B -S1 -5
5: 5m(t&#E) A: 10m
~ ZEH: HEIERIR
BBUTE Imm] 1RPRFEEE
200-800 (100mm Pitch) S1: Omron SX-674A
—— £H: FERIRERE
BEF
== y - KEEY B: %%E
BiERN D: EhaENs
MO : #% =R HERENES
M2 : =Z100W
P2:fAT100W
Approx.250 gg
(Motor cable length) ‘ ‘
b= 8
4-M6X1PX12DP, 2-@4H7X8DP

=R

(mm])
600
700
800
900
1000
1100
1200

(o2}
-

62

275

Effective Stroke

"

50
(With Brake)
2x(N+1)-M5X0.8PX10P
/ 3 4 4 -
= kY % > <
15
50 Nx150
100
(With Brake)
B= (kg) ACHIRSEEINZE (W) 100
3 7.8 =
= ZfRC: +0.01
4 85 R (mm] Z4RP: +0.005(88757)
. L B2 (mm) 208%10
5 9.7
13 10.4 BRITEE (mm) 200~-800 (100 Pitch)
6
7

11.6

HERHR(m)

5(1R%E) 10




4.5 BUSRiRISR

KA14 -2

BN

B2 [mm] : 10, 20

4.6 KAMLRY

Approx.250

0 -0600 -C -M3

BERITHE [mm]
200-1100 (100mm Pitch)

BESH
P: S¥EE » C: 1B%

BELN

MO :

M3 : =&200W
P3:fAT200W

HIWIN.
K02TC01-0611

29

-S1 -5

5: 5mIZ#E) A: 10m
R HIERR

18R BR FH A
S1: Omron SX-674A
ZPH: HIRPRFE R

D: EfEE)as
R EiEH)Es

85 (Motor cable length)
17.5 A
15.5 WSDW,Q%
simerie (| 218 ;
—B
R
LA
22
Brake|
15 4 15
T e .-
g p
o ( — = = = = —
—a3 50
Ll (With Brake)
2|[al|2 2X(N+1)-M6X1PX12DP
2X(N+1)-@6.5 through,thickness 7
A Section detailed chart
2 —] {/ * * *
SgL E h i N
— © s *
20
90 NX200
140
(With Brake)
b /— 101 %E _ _ .
AT N B8 (kg) ACHRSENE W) 200
(mm]) (mm)
200 730 3 14.1 =
ZHRC: +£0.01
300 830 3 15.4 ERFE (mm) 48P, +0.005(85756)
400 930 4 16.6
ol 1030 4 179 B2 (mm) 205110
600 1130 5 19.2
700 1230 5 20.5 o .
800 1330 6 217 BWITE (mm) 200~1100 (100 Pitch)
900 1430 6 23
1000 1530 7 24.3 HEE4R(m) SIESE) <10
1100 1630 7 25.5



HIWIN.
30 ko2TC01-0611

4.7 BUSEiRISEREA

KA18 -20 -0600 -C -M4 D B -S1 -5

| |
itk SELEER
12 lmm] 10, 20 0T
BRATAZ [mm BIRERA
200-1200 (100mm Pitch) S1: Omron SX-674A
N o, EERIRAIR
BESR -
P: B - C: 1 i
HELN 55525RE) 22
MO : £ D: SERENE2

M4 : =2400W o mEpE)se
P4 : AN 400W

4.8 KAMSRY

95 Approx.250 155

S 142
22.5 M ble I h
i:21 (\?;éb (Motor cable length) 1o
Y,  ~
88R 8 f 3
7M
o A 4-M8X1.25PX16DP 2-@6H7X8DP
— 4-M6X1PX12DP
15 4 15 365 Effective Stroke
: o Brake L
1 o
<
|1 © f:%_—% ;q
o Z
T w‘ €] 5] ] /‘ £ £ ] :
25 | [4]|_15 50 | ;
A Section detailed chart (With Brake) 2x(N+1)-29 through, thickness18
. | |
a & © @ | } @
- ||
2 £ i
T—= & & | &
90 Nx200
140
(With Brake)
WITFE %E = = 3
BRI N B (kg ACHIRSENE (W 400
(mm) (mm)
200 740 3 17.5 o=
g #xC: +0.01
300 840 3 19.2 ERIBE (mm) ggpz +0.005(E875/3)
400 940 4 20.9
500 1040 4 22.5 N
600 1140 5 242 B2 (mm) 208%10
700 1240 5 25.9
800 1340 : i BT (mm) 200~1200 (100 Pitch)
900 1440 6 29.2
1000 1540 7 30.9
1100 1640 7 325 HERHR(m) 5(f2#) 10
1200 1740 8 34.2



HIWIN,

Linear Motion Products & Technology

HIWIN.

Linear Motion Products & Technology

EFRESEERDBEEREADT
HIWIN TECHNOLOGIES CORP.
407070 TIA R T EE37584658
Tel : (04)-23594510

Fax: (04)-23594420

www.hiwin.com.tw
business@mail.hiwin.com.tw

KRWAHE D BRAT

HIWIN MIKROSYSTEM CORP.
407556HHaR I EE7 K158
Tel : (04)-23550110

Fax: (04)-23550123
www.hiwinmikro.com.tw
business@mail.hiwinmikro.com.tw

BE B5E
HIWIN GmbH

OFFENBURG, GERMANY
www.hiwin.de
www.hiwin.eu

It &R
HIWIN SCHWEIZ

HORGEN, SWITZERLAND
www.hiwin.ch

R fhfgss
HIWIN CZECH

BRNO, CZECH REPUBLIC
www.hiwin.cz

BE ®F -8R - BhE - Ul

HIWIN JAPAN

KOBE - TOKYO - NAGOYA
KUMAMOTO, JAPAN
www.hiwin.co.jp

=B 2mg - va
HIWIN USA

CHICAGO - SILICON VALLEY, U.S.A.

www.hiwin.com

©2006 FORM K02TC01-0611
(PRINTED IN TAIWAN])





